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15-1
70% Debt; 30% Equity; Capital Budget = $3,000,000; NI = $2,000,000;
PO = ?

Equity retained = 0.3($3,000,000) = $900,000.
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15-2
P0 = $90; Split = 3 for 2; New P0 = ?


[image: image2.wmf]$60.

 

=

 

2

/

3

$90


15-3
NI = $2,000,000; Shares = 1,000,000; P0 = $32; Repurchase = 20%;
New P0 = ?

Repurchase = 0.2 ( 1,000,000 = 200,000 shares.

Repurchase amount = 200,000 ( $32 = $6,400,000.
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PriceNew = EPSnew ( P/E = $2.50(16) = $40.

15-4
Retained earnings = Net income (1 - Payout ratio)

                  = $5,000,000(0.55) = $2,750,000.

External equity needed:

Total equity required = (New investment)(1 - Debt ratio)

                      = $10,000,000(0.60) = $6,000,000.

New external equity needed = $6,000,000 - $2,750,000 = $3,250,000.

15-5
The company requires 0.40($1,200,000) = $480,000 of equity financing.  If the company follows a residual dividend policy it will retain $480,000 for its capital budget and pay out the $120,000 “residual” to its shareholders as a dividend.  The payout ratio would therefore be $120,000/$600,000 = 0.20 = 20%.

15-6
Equity financing = $12,000,000(0.60) = $7,200,000.

Dividends = Net income - Equity financing

          = $15,000,000 - $7,200,000 = $7,800,000.

Dividend payout ratio = Dividends/Net income 

                      = $7,800,000/$15,000,000 = 52%.

15-7
DPS after split = $0.75.

Equivalent pre-split dividend = $0.75(5) = $3.75.

New equivalent dividend = Last year’s dividend(1.09)

                  $3.75 = Last year’s dividend(1.09)

   Last year’s dividend = $3.75/1.09 = $3.44.

15-8
Step 1:
Determine the capital budget by selecting those projects whose returns are greater than the project’s risk-adjusted cost of capital.

Projects H and L should be chosen because IRR > k, so the firm’s capital budget = $10 million.

Step 2:
Determine how much of the capital budget will be financed with equity.

Capital Budget ( Equity % = Equity Required.

        $10,000,000 ( 0.5 = $5,000,000.

Step 3:
Determine dividends through residual model.

$7,287,500 - $5,000,000 = $2,287,500.

Step 4:
Calculate payout ratio.

$2,287,500/$7,287,500 = 0.3139 = 31.39%.

15-9
a.
1.
2001 Dividends = (1.10)(2000 Dividends)

               = (1.10)($3,600,000) = $3,960,000.

2.
2000 Payout = $3,600,000/$10,800,000 = 0.33 = 33%.

2001 Dividends = (0.33)(2001 Net income)

               = (0.33)($14,400,000) = $4,800,000.

(Note:  If the payout ratio is rounded off to 33 percent, 2001 dividends are then calculated as $4,752,000.)

3.
Equity financing = $8,400,000(0.60) = $5,040,000.

2001 Dividends = Net income - Equity financing

               = $14,400,000 - $5,040,000 = $9,360,000.

All of the equity financing is done with retained earnings as long as they are available.

4.
The regular dividends would be 10 percent above the 2000 dividends:

Regular dividends = (1.10)($3,600,000) = $3,960,000.

The residual policy calls for dividends of $9,360,000.  Therefore, the extra dividend, which would be stated as such, would be

Extra dividend = $9,360,000 - $3,960,000 = $5,400,000.

An even better use of the surplus funds might be a stock repurchase.

b.
Policy 4, based on the regular dividend with an extra, seems most logical.  Implemented properly, it would lead to the correct capital budget and the correct financing of that budget, and it would give correct signals to investors.

c.
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d.
   g = Retention rate(ROE)

0.10 = (1 - $3,600,000/$10,800,000)(ROE)

 ROE = 0.10/0.6667 = 0.15 = 15%.

e.
A 2001 dividend of $9,000,000 may be a little low.  The cost of equity is 15 percent, and the average return on equity is 15 percent. 
However, with an average return on equity of 15 percent, the marginal return is lower yet. That suggests that the capital budget is too large, and that more dividends should be paid out.  Of course, we really cannot be sure of this--the company could be earning low returns (say 10 percent) on existing assets yet have extremely profitable investment opportuni​ties this year (say averaging 30 percent) for an expected overall average ROE of 15 percent.  Still, if this year’s projects are like those of past years, then the payout appears to be slightly low.

15-10
a.
Capital Budget = $10,000,000; Capital structure = 60% equity, 40% debt.

Retained Earnings Needed = $10,000,000(0.6) = $6,000,000.

b.
According to the residual dividend model, only $2 million is available for dividends.

NI - Retained earnings needed for capital projects = Residual Dividend

$8,000,000 - $6,000,000 = $2,000,000.

DPS = $2,000,000/1,000,000 = $2.00.

Payout ratio = $2,000,000/$8,000,000 = 25%.

c.
Retained Earnings Available = $8,000,000 - $3.00(1,000,000)

Retained Earnings Available = $8,000,000 - $3,000,000

Retained Earnings Available = $5,000,000.

d.
No.  If the company maintains its $3.00 DPS, only $5 million of retained earnings will be available for capital projects.  However, if the firm is to maintain its current capital structure $6 million of equity is required.  This would necessitate the company having to issue $1 million of new common stock.

e.
Capital Budget = $10 million; Dividends = $3 million; NI = $8 million;

Capital Structure = ?

RE Available
= $8,000,000 - $3,000,000

= $5,000,000.

Percentage of Cap. Budget Financed with RE   = 
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f.
Dividends = $3 million; Capital Budget = $10 million; 60% equity, 40% debt; NI = $8 million.

Equity Needed
= $10,000,000(0.6) = $6,000.000.

RE Available
= $8,000,000 - $3.00(1,000,000)

= $8,000,000 - $3,000,000

= $5,000,000.

External (New) Equity Needed = $6,000,000 - $5,000,000

  = $1,000,000.

g.
Dividends = $3 million; NI = $8 million; Capital structure = 60% equity, 40% debt.


RE Available
= $8,000,000 - $3,000,000

= 5,000,000.

We’re forcing the RE Available = Required Equity to find the new capital budget.


Required Equity = Capital Budget (Target Equity Ratio)


     $5,000,000 = Capital Budget(0.6)


 Capital Budget = $8,333,333.

Therefore, if Buena Terra cuts its capital budget from $10 million to $8.33 million, it can maintain its $3.00 DPS, its current capital structure, and still follow the residual dividend policy.

h.
The firm can do one of four things:

(1) Cut dividends.

(2) Change capital structure, that is, use more debt.

(3) Cut its capital budget.

(4) Issue new common stock.

Realize that each of these actions is not without consequences to the company’s cost of capital, stock price, or both.

Integrated Case - Southeastern Steel Company
Dividend Policy

15-13

SOUTHEASTERN STEEL COMPANY (SSC) WAS FORMED 5 YEARS AGO TO EXPLOIT A NEW CONTINUOUS-CASTING PROCESS.  SSC’S FOUNDERS, DONALD BROWN AND MARGO VALENCIA, HAD BEEN EMPLOYED IN THE RESEARCH DEPARTMENT OF A MAJOR INTEGRATED-STEEL COMPANY, BUT WHEN THAT COMPANY DECIDED AGAINST USING THE NEW PROCESS (WHICH BROWN AND VALENCIA HAD DEVELOPED), THEY DECIDED TO STRIKE OUT ON THEIR OWN.  ONE ADVANTAGE OF THE NEW PROCESS WAS THAT IT REQUIRED RELATIVELY LITTLE CAPITAL IN COMPARISON WITH THE TYPICAL STEEL COMPANY, SO BROWN AND VALENCIA HAVE BEEN ABLE TO AVOID ISSUING NEW STOCK, AND THUS THEY OWN ALL OF THE SHARES.  HOWEVER, SSC HAS NOW REACHED THE STAGE WHERE OUTSIDE EQUITY CAPITAL IS NECESSARY IF THE FIRM IS TO ACHIEVE ITS GROWTH TARGETS YET STILL MAINTAIN ITS TARGET CAPITAL STRUCTURE OF 60 PERCENT EQUITY AND 40 PERCENT DEBT.  THEREFORE, BROWN AND VALENCIA HAVE DECIDED TO TAKE THE COMPANY PUBLIC.  UNTIL NOW, BROWN AND VALENCIA HAVE PAID THEMSELVES REASONABLE SALARIES BUT ROUTINELY REINVESTED ALL AFTER-TAX EARNINGS IN THE FIRM, SO DIVIDEND POLICY HAS NOT BEEN AN ISSUE.  HOWEVER, BEFORE TALKING WITH POTENTIAL OUTSIDE INVESTORS, THEY MUST DECIDE ON A DIVIDEND POLICY.

ASSUME THAT YOU WERE RECENTLY HIRED BY ARTHUR ADAMSON & COMPANY (AA), A NATIONAL CONSULTING FIRM, WHICH HAS BEEN ASKED TO HELP SSC PREPARE FOR ITS PUBLIC OFFERING.  MARTHA MILLON, THE SENIOR AA CONSULTANT IN YOUR GROUP, HAS ASKED YOU TO MAKE A PRESENTATION TO BROWN AND VALENCIA IN WHICH YOU REVIEW THE THEORY OF DIVIDEND POLICY AND DISCUSS THE FOLLOWING QUESTIONS.

A.
1.
WHAT IS MEANT BY THE TERM “DIVIDEND POLICY”?
ANSWER:
[SHOW S15-1 AND S15-2 HERE.]  DIVIDEND POLICY IS DEFINED AS THE FIRM’S POLICY WITH REGARD TO PAYING OUT EARNINGS AS DIVIDENDS VERSUS RETAINING THEM FOR REINVESTMENT IN THE FIRM.  DIVIDEND POLICY REALLY INVOLVES THREE KEY ISSUES:  (1) HOW MUCH SHOULD BE DISTRIBUTED?  (2) SHOULD THE DISTRIBUTION BE AS CASH DIVIDENDS, OR SHOULD THE CASH BE PASSED ON TO SHAREHOLDERS BY BUYING BACK SOME OF THE STOCK THEY HOLD?  (3) HOW STABLE SHOULD THE DISTRIBUTION BE, THAT IS, SHOULD THE FUNDS PAID OUT FROM YEAR TO YEAR BE STABLE AND DEPENDABLE, WHICH STOCKHOLDERS WOULD PROBABLY PREFER, OR BE ALLOWED TO VARY WITH THE FIRM’S CASH FLOWS AND INVESTMENT REQUIREMENTS, WHICH WOULD PROBABLY BE BETTER FROM THE FIRM’S STANDPOINT?

A.
2.
THE TERMS “IRRELEVANCE,” “BIRD IN THE HAND,” AND “TAX PREFERENCE” HAVE BEEN USED TO DESCRIBE THREE MAJOR THEORIES REGARDING THE WAY DIVIDEND POLICY AFFECTS A FIRM’S VALUE.  EXPLAIN WHAT THESE TERMS MEAN, AND BRIEFLY DESCRIBE EACH THEORY.
ANSWER:
[SHOW S15-3 THROUGH S15-6 HERE.]  DIVIDEND IRRELEVANCE REFERS TO THE THEORY THAT INVESTORS ARE INDIFFERENT BETWEEN DIVIDENDS AND CAPITAL GAINS, MAKING DIVIDEND POLICY IRRELEVANT WITH REGARD TO ITS EFFECT ON THE VALUE OF THE FIRM.  “BIRD IN THE HAND” REFERS TO THE THEORY THAT A DOLLAR OF DIVIDENDS IN THE HAND IS PREFERRED BY INVESTORS TO A DOLLAR RETAINED IN THE BUSINESS, IN WHICH CASE DIVIDEND POLICY WOULD AFFECT A FIRM’S VALUE.

THE DIVIDEND IRRELEVANCE THEORY WAS PROPOSED BY MM, BUT THEY HAD TO MAKE SOME VERY RESTRICTIVE ASSUMPTIONS TO “PROVE” IT (ZERO TAXES, NO FLOTATION OR TRANSACTIONS COSTS).  MM ARGUED THAT PAYING OUT A DOLLAR PER SHARE OF DIVIDENDS REDUCES THE GROWTH RATE IN EARNINGS AND DIVIDENDS, BECAUSE NEW STOCK WILL HAVE TO BE SOLD TO REPLACE THE CAPITAL PAID OUT AS DIVIDENDS.  UNDER THEIR ASSUMPTIONS, A DOLLAR OF DIVIDENDS WILL REDUCE THE STOCK PRICE BY EXACTLY $1.  THEREFORE, ACCORDING TO MM, STOCKHOLDERS SHOULD BE INDIFFERENT BETWEEN DIVIDENDS AND CAPITAL GAINS.

THE “BIRD-IN-THE-HAND” THEORY IS IDENTIFIED WITH MYRON GORDON AND JOHN LINTNER, WHO ARGUED THAT INVESTORS PERCEIVE A DOLLAR OF DIVIDENDS IN THE HAND TO BE LESS RISKY THAN A DOLLAR OF POTENTIAL FUTURE CAPITAL GAINS IN THE BUSH; HENCE, STOCKHOLDERS PREFER A DOLLAR OF ACTUAL DIVIDENDS TO A DOLLAR OF RETAINED EARNINGS.  IF THE “BIRD-IN-THE-HAND” THEORY IS TRUE, THEN INVESTORS WOULD REGARD A FIRM WITH A HIGH PAYOUT RATIO AS BEING LESS RISKY THAN ONE WITH A LOW PAYOUT RATIO, ALL OTHER THINGS EQUAL; HENCE, FIRMS WITH HIGH PAYOUT RATIOS WOULD HAVE HIGHER VALUES THAN THOSE WITH LOW PAYOUT RATIOS.

MM OPPOSED THE GORDON-LINTNER THEORY, ARGUING THAT A FIRM’S RISK IS DEPENDENT ONLY ON THE RISKINESS OF ITS CASH FLOWS FROM ASSETS AND ITS CAPITAL STRUCTURE, NOT BY HOW ITS EARNINGS ARE DISTRIBUTED TO INVESTORS.

THE TAX PREFERENCE THEORY RECOGNIZES THAT THERE ARE THREE TAX-RELATED REASONS FOR BELIEVING THAT INVESTORS MIGHT PREFER A LOW DIVIDEND PAYOUT TO A HIGH PAYOUT:  (1) LONG-TERM CAPITAL GAINS ARE TAXED AT A RATE OF 20 PERCENT, WHEREAS DIVIDEND INCOME IS TAXED AT EFFECTIVE RATES THAT GO UP TO ALMOST 40 PERCENT.  (2) TAXES ARE NOT PAID ON CAPITAL GAINS UNTIL THE STOCK IS SOLD.  (3) IF A STOCK IS HELD BY SOMEONE UNTIL HE OR SHE DIES, NO CAPITAL GAINS TAX IS DUE AT ALL--THE BENEFICIARIES WHO RECEIVE THE STOCK CAN USE THE STOCK’S VALUE ON THE DEATH DAY AS THEIR COST BASIS AND THUS ESCAPE THE CAPITAL GAINS TAX.

A.
3.
WHAT DO THE THREE THEORIES INDICATE REGARDING THE ACTIONS MANAGEMENT SHOULD TAKE WITH RESPECT TO DIVIDEND POLICY?
ANSWER:
[SHOW S15-7 HERE.]  IF THE DIVIDEND IRRELEVANCE THEORY IS CORRECT, THEN DIVIDEND POLICY IS OF NO CONSEQUENCE, AND THE FIRM MAY PURSUE ANY DIVIDEND POLICY.  IF THE “BIRD-IN-THE-HAND” THEORY IS CORRECT, THE FIRM SHOULD SET A HIGH PAYOUT IF IT IS TO MAXIMIZE ITS STOCK PRICE.  IF THE TAX PREFERENCE THEORY IS CORRECT, THE FIRM SHOULD SET A LOW PAYOUT IF IT IS TO MAXIMIZE ITS STOCK PRICE.  THEREFORE, THE THEORIES ARE IN TOTAL CONFLICT WITH ONE ANOTHER.

A.
4.
EXPLAIN THE RELATIONSHIPS BETWEEN DIVIDEND POLICY, STOCK PRICE, AND THE COST OF EQUITY UNDER EACH DIVIDEND POLICY THEORY BY CONSTRUCTING TWO GRAPHS SUCH AS THOSE SHOWN IN FIGURE 15-1.  DIVIDEND PAYOUT SHOULD BE PLACED ON THE X-AXIS.
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ANSWER:
[SHOW S15-8 AND S15-9 HERE.]  THE GRAPH ILLUSTRATES THE THREE THEORIES. IN THE TOP GRAPH WE PLOT STOCK PRICE VERSUS DIVIDEND POLICY (PAYOUT) UNDER THE THREE DIFFERENT DIVIDEND THEORIES, ASSUMING THAT A ZERO PERCENT PAYOUT PRODUCES A STOCK PRICE OF $30. IF MM ARE CORRECT, THEN THE STOCK PRICE WILL REMAIN CONSTANT AT $30 REGARDLESS OF WHETHER THE FIRM RETAINS ALL EARNINGS, PAYS OUT ALL EARNINGS, OR DOES SOMETHING BETWEEN THESE TWO POLICIES.  IF GORDON-LINTNER (BIRD-IN-HAND) ARE CORRECT, THEN AS THE FIRM PAYS OUT MORE IN DIVIDENDS (RETAINS LESS AND LESS) THE STOCK PRICE WOULD INCREASE BECAUSE INVESTORS PREFER DIVIDENDS TO CAPITAL GAINS. IF THE TAX-PREFERENCE THEORY IS CORRECT, AS THE FIRM PAYS OUT MORE IN DIVIDENDS (RETAINS LESS AND LESS) THE STOCK PRICE WOULD DECREASE BECAUSE INVESTORS PREFER COMPANIES TO RETAIN EARNINGS SO THEY RECEIVE THEIR RETURNS AS LIGHTLY-TAXED CAPITAL GAINS RATHER THAN HEAVILY-TAXED DIVIDENDS.
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IN THE NEXT GRAPH WE PLOT COST OF EQUITY VERSUS DIVIDEND POLICY (PAYOUT) UNDER THE THREE DIFFERENT DIVIDEND THEORIES ASSUMING THAT A ZERO PERCENT PAYOUT PRODUCES A REQUIRED RETURN OF 15 PERCENT.  IF MM ARE CORRECT, THEN ks WOULD REMAIN CONSTANT AT 15 PERCENT REGARDLESS OF WHETHER THE FIRM RETAINED ALL EARNINGS, PAID OUT ALL EARNINGS, OR FELL SOMEWHERE IN BETWEEN.  FOR ANY PAYOUT, ks = DIVIDEND YIELD + CAPITAL GAINS YIELD = CONSTANT 15%.

IF GORDON-LINTNER (BIRD-IN-HAND) ARE CORRECT, THEN, AS THE FIRM PAYS OUT MORE AND MORE (AND RETAINS LESS AND LESS), INVESTORS WOULD PERCEIVE THE FIRM TO BE GETTING LESS RISKY; HENCE ks WOULD DECREASE.

IF THE TAX PREFERENCE THEORY IS CORRECT, THEN, AS THE FIRM PAYS OUT MORE AND MORE (AND RETAINS LESS AND LESS), INVESTORS WOULD PERCEIVE THE FIRM TO BE GETTING RISKIER; HENCE, kS WOULD INCREASE.

NOTES:

1.
UNDER MM, ks = 15% = CONSTANT.

2.
UNDER GORDON-LINTNER, ks DECREASES AS THE PAYOUT RATIO INCREASES.

3.
UNDER THE TAX PREFERENCE THEORY, ks INCREASES AS THE PAYOUT RATIO INCREASES.

A.
5.
WHAT RESULTS HAVE EMPIRICAL STUDIES OF THE DIVIDEND THEORIES PRODUCED? HOW DOES ALL THIS AFFECT WHAT WE CAN TELL MANAGERS ABOUT DIVIDEND POLICY?
ANSWER:
[SHOW S15-10 HERE.]  UNFORTUNATELY, EMPIRICAL TESTS OF THE DIVIDEND THEORIES HAVE BEEN INCONCLUSIVE (BECAUSE FIRMS DON’T DIFFER JUST WITH RESPECT TO PAYOUT), SO WE CANNOT TELL MANAGERS WHETHER INVESTORS PREFER DIVIDENDS OR CAPITAL GAINS.  EVEN THOUGH WE CANNOT DETERMINE WHAT THE OPTIMAL DIVIDEND POLICY IS, MANAGERS CAN USE THE TYPES OF ANALYSES DISCUSSED IN THIS CHAPTER TO HELP DEVELOP A RATIONAL AND REASONABLE, IF NOT COMPLETELY OPTIMAL, DIVIDEND POLICY.

B.

DISCUSS (1) THE INFORMATION CONTENT, OR SIGNALING, HYPOTHESIS, (2) THE CLIENTELE EFFECT, AND (3) THEIR EFFECTS ON DIVIDEND POLICY.
ANSWER:
[SHOW S15-11 AND S15-12 HERE.]

1.
IT HAS LONG BEEN RECOGNIZED THAT THE ANNOUNCEMENT OF A DIVIDEND INCREASE OFTEN RESULTS IN AN INCREASE IN THE STOCK PRICE, WHILE AN ANNOUNCEMENT OF A DIVIDEND CUT TYPICALLY CAUSES THE STOCK PRICE TO FALL.  ONE COULD ARGUE THAT THIS OBSERVATION SUPPORTS THE PREMISE THAT INVESTORS PREFER DIVIDENDS TO CAPITAL GAINS.  HOWEVER, MM ARGUED THAT DIVIDEND ANNOUNCEMENTS ARE SIGNALS THROUGH WHICH MANAGEMENT CONVEYS INFORMATION TO INVESTORS.  INFORMATION ASYMMETRIES EXIST--MANAGERS KNOW MORE ABOUT THEIR FIRMS’ PROSPECTS THAN DO INVESTORS.  FURTHER, MANAGERS TEND TO RAISE DIVIDENDS ONLY WHEN THEY BELIEVE THAT FUTURE EARNINGS CAN COMFORTABLY SUPPORT A HIGHER DIVIDEND LEVEL, AND THEY CUT DIVIDENDS ONLY AS A LAST RESORT. THEREFORE, (1) A LARGER-THAN-NORMAL DIVIDEND INCREASE “SIGNALS” THAT MANAGEMENT BELIEVES THE FUTURE IS BRIGHT, (2) A SMALLER-THAN-EXPECTED INCREASE, OR A DIVIDEND CUT, IS A NEGATIVE SIGNAL, AND 
(3) IF DIVIDENDS ARE INCREASED BY A “NORMAL” AMOUNT, THIS IS A NEUTRAL SIGNAL.

2.
DIFFERENT GROUPS, OR CLIENTELES, OF STOCKHOLDERS PREFER DIFFERENT DIVIDEND PAYOUT POLICIES.  FOR EXAMPLE, MANY RETIREES, PENSION FUNDS, AND UNIVERSITY ENDOWMENT FUNDS ARE IN A LOW (OR ZERO) TAX BRACKET, AND THEY HAVE A NEED FOR CURRENT CASH INCOME.  THEREFORE, THIS GROUP OF STOCKHOLDERS MIGHT PREFER HIGH-PAYOUT STOCKS.  THESE INVESTORS COULD, OF COURSE, SELL SOME OF THEIR STOCK, BUT THIS WOULD BE INCONVENIENT, TRANSACTIONS COSTS WOULD BE INCURRED, AND THE SALE MIGHT HAVE TO BE MADE IN A DOWN MARKET.  CONVERSELY, INVESTORS IN THEIR PEAK EARNINGS YEARS WHO ARE IN HIGH TAX BRACKETS AND WHO HAVE NO NEED FOR CURRENT CASH INCOME SHOULD PREFER LOW-PAYOUT STOCKS.

3.
CLIENTELES DO EXIST, BUT THE REAL QUESTION IS WHETHER THERE ARE MORE MEMBERS OF ONE CLIENTELE THAN ANOTHER, WHICH WOULD AFFECT WHAT A CHANGE IN ITS DIVIDEND POLICY WOULD DO TO THE DEMAND FOR THE FIRM’S STOCK.  THERE ARE ALSO COSTS (TAXES AND BROKERAGE) TO STOCKHOLDERS WHO WOULD BE FORCED TO SWITCH FROM ONE STOCK TO ANOTHER IF A FIRM CHANGES ITS POLICY.  THEREFORE, WE CANNOT SAY WHETHER A POLICY CHANGE TO APPEAL TO ONE PARTICULAR CLIENTELE OR ANOTHER WOULD LOWER OR RAISE A FIRM’S COST OF EQUITY.  MM ARGUED THAT ONE CLIENTELE IS AS GOOD AS ANOTHER, SO IN THEIR VIEW THE EXISTENCE OF CLIENTELES DOES NOT IMPLY THAT ONE DIVIDEND POLICY IS BETTER THAN ANOTHER. STILL, NO ONE HAS OFFERED CONVINCING PROOF THAT FIRMS CAN DISREGARD CLIENTELE EFFECTS.  WE KNOW THAT STOCKHOLDER SHIFTS WILL OCCUR IF POLICY IS CHANGED, AND SINCE SUCH SHIFTS RESULT IN TRANSACTION COSTS AND CAPITAL GAINS TAXES, POLICY CHANGES SHOULD NOT BE TAKEN LIGHTLY. FURTHER, DIVIDEND POLICY SHOULD BE CHANGED SLOWLY, RATHER THAN ABRUPTLY, IN ORDER TO GIVE STOCKHOLDERS TIME TO ADJUST.

C.
1.
ASSUME THAT SSC HAS AN $800,000 CAPITAL BUDGET PLANNED FOR THE COMING YEAR.  YOU HAVE DETERMINED THAT ITS PRESENT CAPITAL STRUCTURE (60 PERCENT EQUITY AND 40 PERCENT DEBT) IS OPTIMAL, AND ITS NET INCOME IS FORECASTED AT $600,000.  USE THE RESIDUAL DIVIDEND MODEL APPROACH TO DETERMINE SSC’S TOTAL DOLLAR DIVIDEND AND PAYOUT RATIO.  IN THE PROCESS, EXPLAIN WHAT THE RESIDUAL DIVIDEND MODEL IS.  THEN, EXPLAIN WHAT WOULD HAPPEN IF NET INCOME WERE FORECASTED AT $400,000, OR AT $800,000.
ANSWER:
[SHOW S15-13 THROUGH S15-17 HERE.]  WE MAKE THE FOLLOWING POINTS:

1.
GIVEN THE OPTIMAL CAPITAL BUDGET AND THE TARGET CAPITAL STRUCTURE, WE MUST NOW DETERMINE THE AMOUNT OF EQUITY NEEDED TO FINANCE THE PROJECTS.  OF THE $800,000 REQUIRED FOR THE CAPITAL BUDGET, 0.6($800,000) = $480,000 MUST BE RAISED AS EQUITY AND 0.4($800,000) = $320,000 MUST BE RAISED AS DEBT IF WE ARE TO MAINTAIN THE OPTIMAL CAPITAL STRUCTURE:


DEBT     $320,000    40%


EQUITY    480,000    60%


         $800,000   100%
2.
IF A RESIDUAL EXISTS--THAT IS, IF NET INCOME EXCEEDS THE AMOUNT OF EQUITY THE COMPANY NEEDS--THEN IT SHOULD PAY THE RESIDUAL AMOUNT OUT IN DIVIDENDS.  SINCE $600,000 OF EARNINGS IS AVAILABLE, AND ONLY $480,000 IS NEEDED, THE RESIDUAL IS $600,000 - $480,000 = $120,000, SO THIS IS THE AMOUNT THAT SHOULD BE PAID OUT AS DIVIDENDS.  THUS, THE PAYOUT RATIO WOULD BE $120,000/$600,000 = 0.20 = 20%.

3.
IF ONLY $400,000 OF EARNINGS WERE AVAILABLE, THE FIRM WOULD STILL NEED $480,000 OF EQUITY.  IT SHOULD THEN RETAIN ALL OF ITS EARNINGS AND ALSO SELL $80,000 OF NEW STOCK.  THE RESIDUAL POLICY WOULD CALL FOR A ZERO PAYMENT.

4.
IF $800,000 OF EARNINGS WERE AVAILABLE, THE DIVIDEND WOULD BE INCREASED TO $800,000 - $480,000 = $320,000, AND THE PAYOUT RATIO WOULD RISE TO $320,000/$800,000 = 40%.

C.
2.
IN GENERAL TERMS, HOW WOULD A CHANGE IN INVESTMENT OPPORTUNITIES AFFECT THE PAYOUT RATIO UNDER THE RESIDUAL PAYMENT POLICY?
ANSWER:
[SHOW S15-18 HERE.]  A CHANGE IN INVESTMENT OPPORTUNITIES WOULD LEAD TO AN INCREASE (IF INVESTMENT OPPORTUNITIES WERE GOOD) OR A DECREASE (IF INVESTMENT OPPORTUNITIES WERE NOT GOOD) IN THE AMOUNT OF EQUITY NEEDED, HENCE IN THE RESIDUAL DIVIDEND PAYOUT.

C.
3.
WHAT ARE THE ADVANTAGES AND DISADVANTAGES OF THE RESIDUAL POLICY? 
(HINT:  DON’T NEGLECT SIGNALING AND CLIENTELE EFFECTS.)
ANSWER:
[SHOW S15-19 HERE.]  THE PRIMARY ADVANTAGE OF THE RESIDUAL POLICY IS THAT UNDER IT THE FIRM MAKES MAXIMUM USE OF LOWER COST RETAINED EARNINGS, THUS MINIMIZING FLOTATION COSTS AND HENCE THE COST OF CAPITAL.  ALSO, WHATEVER NEGATIVE SIGNALS ARE ASSOCIATED WITH STOCK ISSUES WOULD BE AVOIDED.

HOWEVER, IF IT WERE APPLIED EXACTLY, THE RESIDUAL MODEL WOULD RESULT IN DIVIDEND PAYMENTS THAT FLUCTUATED SIGNIFICANTLY FROM YEAR TO YEAR AS CAPITAL REQUIREMENTS AND INTERNAL CASH FLOWS FLUCTUATED.  THIS WOULD (1) SEND INVESTORS CONFLICTING SIGNALS OVER TIME REGARDING THE FIRM’S FUTURE PROSPECTS, AND (2) SINCE NO SPECIFIC CLIENTELE WOULD BE ATTRACTED TO THE FIRM, IT WOULD BE AN “ORPHAN.”  THESE SIGNALING AND CLIENTELE EFFECTS WOULD LEAD TO A HIGHER REQUIRED RETURN ON EQUITY THAT WOULD MORE THAN OFFSET THE EFFECTS OF LOWER FLOTATION COSTS. BECAUSE OF THESE FACTORS, FEW IF ANY PUBLICLY OWNED FIRMS FOLLOW THE RESIDUAL MODEL ON A YEAR-TO-YEAR BASIS.

EVEN THOUGH THE RESIDUAL APPROACH IS NOT USED TO SET THE ANNUAL DIVIDEND, IT IS USED WHEN FIRMS ESTABLISH THEIR LONG-RUN DIVIDEND POLICY.  IF “NORMALIZED” COST OF CAPITAL AND INVESTMENT OPPORTUNITY CONDITIONS SUGGEST THAT IN A “NORMAL” YEAR THE COMPANY SHOULD PAY OUT ABOUT 60 PERCENT OF ITS EARNINGS, THIS FACT WILL BE NOTED AND USED TO HELP DETERMINE THE LONG-RUN POLICY.

D.

WHAT IS A DIVIDEND REINVESTMENT PLAN (DRIP), AND HOW DOES IT WORK?
ANSWER:
[SHOW S15-20 THROUGH S15-23 HERE.]  UNDER A DIVIDEND REINVESTMENT PLAN (DRIP), SHAREHOLDERS HAVE THE OPTION OF AUTOMATICALLY REINVESTING THEIR DIVIDENDS IN SHARES OF THE FIRM’S COMMON STOCK. IN AN OPEN MARKET PURCHASE PLAN, A TRUSTEE POOLS ALL THE DIVIDENDS TO BE REINVESTED AND THEN BUYS SHARES ON THE OPEN MARKET. SHAREHOLDERS USE THE DRIP FOR THREE REASONS: (1) BROKERAGE COSTS ARE REDUCED BY THE VOLUME PURCHASES, (2) THE DRIP IS A CONVENIENT WAY TO INVEST EXCESS FUNDS, AND (3) THE COMPANY GENERALLY PAYS ALL ADMINISTRATIVE COSTS ASSOCIATED WITH THE OPERATION.

IN A NEW STOCK PLAN, THE FIRM ISSUES NEW STOCK TO THE DRIP MEMBERS IN LIEU OF CASH DIVIDENDS.  NO FEES ARE CHARGED, AND MANY COMPANIES EVEN OFFER THE STOCK AT A 5 PERCENT DISCOUNT FROM THE MARKET PRICE ON THE DIVIDEND DATE ON THE GROUNDS THAT THE FIRM AVOIDS FLOTATION COSTS THAT WOULD OTHERWISE BE INCURRED.  ONLY FIRMS THAT NEED NEW EQUITY CAPITAL USE NEW STOCK PLANS, WHILE FIRMS WITH NO NEED FOR NEW STOCK USE AN OPEN MARKET PURCHASE PLAN.

E.

DESCRIBE THE SERIES OF STEPS THAT MOST FIRMS TAKE IN SETTING DIVIDEND POLICY IN PRACTICE.

ANSWER:
[SHOW S15-24 AND S15-25 HERE.]  FIRMS ESTABLISH DIVIDEND POLICY WITHIN THE FRAMEWORK OF THEIR OVERALL FINANCIAL PLANS.  THE STEPS IN SETTING POLICY ARE LISTED BELOW:

1.
THE FIRM FORECASTS ITS ANNUAL CAPITAL BUDGET AND ITS ANNUAL SALES, ALONG WITH ITS WORKING CAPITAL NEEDS, FOR A RELATIVELY LONG-TERM PLANNING HORIZON, OFTEN 5 YEARS.

2.
THE TARGET CAPITAL STRUCTURE, PRESUMABLY THE ONE THAT MINIMIZES THE WACC WHILE RETAINING SUFFICIENT RESERVE BORROWING CAPACITY TO PROVIDE “FINANCING FLEXIBILITY,” WILL ALSO BE ESTABLISHED.

3.
WITH ITS CAPITAL STRUCTURE AND INVESTMENT REQUIREMENTS IN MIND, THE FIRM CAN ESTIMATE THE APPROXIMATE AMOUNT OF DEBT AND EQUITY FINANCING REQUIRED DURING EACH YEAR OVER THE PLANNING HORIZON.

4.
A LONG-TERM TARGET PAYOUT RATIO IS THEN DETERMINED, BASED ON THE RESIDUAL MODEL CONCEPT.  BECAUSE OF FLOTATION COSTS AND POTENTIAL NEGATIVE SIGNALING, THE FIRM WILL NOT WANT TO ISSUE COMMON STOCK UNLESS THIS IS ABSOLUTELY NECESSARY.  AT THE SAME TIME, DUE TO THE CLIENTELE EFFECT, THE FIRM WILL MOVE CAUTIOUSLY FROM ITS PAST DIVIDEND POLICY, IF A NEW POLICY APPEARS TO BE WARRANTED, AND IT WILL MOVE TOWARD ANY NEW POLICY GRADUALLY RATHER THAN IN ONE GIANT STEP.

5.
AN ACTUAL DOLLAR DIVIDEND, SAY $2 PER YEAR, WILL BE DECIDED UPON. THE SIZE OF THIS DIVIDEND WILL REFLECT (1) THE LONG-RUN TARGET PAYOUT RATIO AND (2) THE PROBABILITY THAT THE DIVIDEND, ONCE SET, WILL HAVE TO BE LOWERED, OR, WORSE YET, OMITTED.  IF THERE IS A GREAT DEAL OF UNCERTAINTY ABOUT CASH FLOWS AND CAPITAL NEEDS, THEN A RELATIVELY LOW INITIAL DOLLAR DIVIDEND WILL BE SET, FOR THIS WILL MINIMIZE THE PROBABILITY THAT THE FIRM WILL HAVE TO EITHER REDUCE THE DIVIDEND OR SELL NEW COMMON STOCK.  THE FIRM WILL RUN ITS CORPORATE PLANNING MODEL SO THAT MANAGEMENT CAN SEE WHAT IS LIKELY TO HAPPEN WITH DIFFERENT INITIAL DIVIDENDS AND PROJECTED GROWTH RATES UNDER DIFFERENT ECONOMIC SCENARIOS.

F.

WHAT ARE STOCK REPURCHASES?  DISCUSS THE ADVANTAGES AND DISADVANTAGES OF A FIRM’S REPURCHASING ITS OWN SHARES.
ANSWER:
[SHOW S15-26 THROUGH S15-28 HERE.]  A FIRM MAY DISTRIBUTE CASH TO STOCKHOLDERS BY REPURCHASING ITS OWN STOCK RATHER THAN PAYING OUT CASH DIVIDENDS.  STOCK REPURCHASES CAN BE USED (1) SOMEWHAT ROUTINELY AS AN ALTERNATIVE TO REGULAR DIVIDENDS, (2) TO DISPOSE OF EXCESS (NONRECURRING) CASH THAT CAME FROM ASSET SALES OR FROM TEMPORARILY HIGH EARNINGS, AND (3) IN CONNECTION WITH A CAPITAL STRUCTURE CHANGE IN WHICH DEBT IS SOLD AND THE PROCEEDS ARE USED TO BUY BACK AND RETIRE SHARES.

ADVANTAGES OF REPURCHASES:

1.
A REPURCHASE ANNOUNCEMENT MAY BE VIEWED AS A POSITIVE SIGNAL THAT MANAGEMENT BELIEVES THE SHARES ARE UNDERVALUED.

2.
STOCKHOLDERS HAVE A CHOICE--IF THEY WANT CASH, THEY CAN TENDER THEIR SHARES, RECEIVE THE CASH, AND PAY THE TAXES, OR THEY CAN KEEP THEIR SHARES AND AVOID TAXES.  ON THE OTHER HAND, ONE MUST ACCEPT A CASH DIVIDEND AND PAY TAXES ON IT.

3.
IF THE COMPANY RAISES THE DIVIDEND TO DISPOSE OF EXCESS CASH, THIS HIGHER DIVIDEND MUST BE MAINTAINED TO AVOID ADVERSE STOCK PRICE REACTIONS.  A STOCK REPURCHASE, ON THE OTHER HAND, DOES NOT OBLIGATE MANAGEMENT TO FUTURE REPURCHASES.

4.
REPURCHASED STOCK, CALLED TREASURY STOCK, CAN BE USED LATER IN MERGERS, WHEN EMPLOYEES EXERCISE STOCK OPTIONS, WHEN CONVERTIBLE BONDS ARE CONVERTED, AND WHEN WARRANTS ARE EXERCISED.  TREASURY STOCK CAN ALSO BE RESOLD IN THE OPEN MARKET IF THE FIRM NEEDS CASH. REPURCHASES CAN REMOVE A LARGE BLOCK OF STOCK THAT IS “OVERHANGING” THE MARKET AND KEEPING THE PRICE PER SHARE DOWN.

5.
REPURCHASES CAN BE VARIED FROM YEAR TO YEAR WITHOUT GIVING OFF ADVERSE SIGNALS, WHILE DIVIDENDS MAY NOT.

6.
REPURCHASES CAN BE USED TO PRODUCE LARGE-SCALE CHANGES IN CAPITAL STRUCTURE.

DISADVANTAGES OF REPURCHASES:

1.
A REPURCHASE COULD LOWER THE STOCK’S PRICE IF IT IS TAKEN AS A SIGNAL THAT THE FIRM HAS RELATIVELY FEW GOOD INVESTMENT OPPORTUNITIES.  ON THE OTHER HAND, THOUGH, A REPURCHASE CAN SIGNAL STOCKHOLDERS THAT MANAGERS ARE NOT ENGAGED IN “EMPIRE BUILDING,” WHERE THEY INVEST FUNDS IN LOW-RETURN PROJECTS.

2.
IF THE IRS ESTABLISHES THAT THE REPURCHASE WAS PRIMARILY TO AVOID TAXES ON DIVIDENDS, THEN PENALTIES COULD BE IMPOSED.  SUCH ACTIONS HAVE BEEN BROUGHT AGAINST CLOSELY-HELD FIRMS, BUT TO OUR KNOWLEDGE CHARGES HAVE NEVER BEEN BROUGHT AGAINST PUBLICLY-HELD FIRMS.

3.
SELLING SHAREHOLDERS MAY NOT BE FULLY INFORMED ABOUT THE REPURCHASE; HENCE THEY MAY MAKE AN UNINFORMED DECISION AND MAY LATER SUE THE COMPANY. TO AVOID THIS, FIRMS GENERALLY ANNOUNCE REPURCHASE PROGRAMS IN ADVANCE.

4.
THE FIRM MAY BID THE STOCK PRICE UP AND END UP PAYING TOO HIGH A PRICE FOR THE SHARES.  IN THIS SITUATION, THE SELLING SHAREHOLDERS WOULD GAIN AT THE EXPENSE OF THE REMAINING SHAREHOLDERS.  THIS COULD OCCUR IF A TENDER OFFER WERE MADE AND THE PRICE WAS SET TOO HIGH, OR IF THE REPURCHASE WAS MADE IN THE OPEN MARKET AND BUYING PRESSURE DROVE THE PRICE ABOVE ITS EQUILIBRIUM LEVEL.

G.

WHAT ARE STOCK DIVIDENDS AND STOCK SPLITS?  WHAT ARE THE ADVANTAGES AND DISADVANTAGES OF STOCK DIVIDENDS AND STOCK SPLITS?
ANSWER:
[SHOW S15-29 THROUGH S15-31 HERE.]  WHEN IT USES A STOCK DIVIDEND, A FIRM ISSUES NEW SHARES IN LIEU OF PAYING A CASH DIVIDEND.  FOR EXAMPLE, IN A 5 PERCENT STOCK DIVIDEND, THE HOLDER OF 100 SHARES WOULD RECEIVE AN ADDITIONAL 5 SHARES.  IN A STOCK SPLIT, THE NUMBER OF SHARES OUTSTANDING IS INCREASED (OR DECREASED IN A REVERSE SPLIT) IN AN ACTION UNRELATED TO A DIVIDEND PAYMENT.  FOR EXAMPLE, IN A 2-FOR-1 SPLIT, THE NUMBER OF SHARES OUTSTANDING IS DOUBLED.  A 100 PERCENT STOCK DIVIDEND AND A 2-FOR-1 STOCK SPLIT WOULD PRODUCE THE SAME EFFECT, BUT THERE WOULD BE DIFFERENCES IN THE ACCOUNTING TREATMENTS OF THE TWO ACTIONS.

BOTH STOCK DIVIDENDS AND STOCK SPLITS INCREASE THE NUMBER OF SHARES OUTSTANDING AND, IN EFFECT, CUT THE PIE INTO MORE, BUT SMALLER, PIECES. IF THE DIVIDEND OR SPLIT DOES NOT OCCUR AT THE SAME TIME AS SOME OTHER EVENT THAT WOULD ALTER PERCEPTIONS ABOUT FUTURE CASH FLOWS, SUCH AS AN ANNOUNCEMENT OF HIGHER EARNINGS, THEN ONE WOULD EXPECT THE PRICE OF THE STOCK TO ADJUST SUCH THAT EACH INVESTOR’S WEALTH REMAINS UNCHANGED. FOR EXAMPLE, A 2‑FOR‑1 SPLIT OF A STOCK SELLING FOR $50 WOULD RESULT IN THE STOCK PRICE BEING CUT IN HALF, TO $25.

IT IS HARD TO COME UP WITH A CONVINCING RATIONALE FOR SMALL STOCK DIVIDENDS, LIKE 5 PERCENT OR 10 PERCENT. NO ECONOMIC VALUE IS BEING CREATED OR DISTRIBUTED, YET STOCKHOLDERS HAVE TO BEAR THE ADMINISTRATIVE COSTS OF THE DISTRIBUTION.  FURTHER, IT IS INCONVENIENT TO OWN AN ODD NUMBER OF SHARES AS MAY RESULT AFTER A SMALL STOCK DIVIDEND. THUS, MOST COMPANIES TODAY AVOID SMALL STOCK DIVIDENDS.

ON THE OTHER HAND, THERE IS A GOOD REASON FOR STOCK SPLITS OR LARGE STOCK DIVIDENDS.  SPECIFICALLY, THERE IS A WIDESPREAD BELIEF THAT AN OPTIMAL PRICE RANGE EXISTS FOR STOCKS.  THE ARGUMENT GOES AS FOLLOWS: IF A STOCK SELLS FOR ABOUT $20-$80, THEN IT CAN BE PURCHASED IN ROUND LOTS, HENCE AT REDUCED COMMISSIONS, BY MOST INVESTORS.  A HIGHER PRICE WOULD PUT ROUND LOTS OUT OF THE PRICE RANGE OF MANY SMALL INVESTORS, WHILE A STOCK PRICE LOWER THAN ABOUT $20 WOULD CONVEY THE IMAGE OF A STOCK THAT IS DOING POORLY.  THUS, MOST FIRMS TRY TO KEEP THEIR STOCK PRICES WITHIN THE $20 TO $80 RANGE.  IF THE COMPANY PROSPERS, IT WILL SPLIT ITS STOCK OCCASIONALLY TO HOLD THE PRICE DOWN.  (ALSO, COMPANIES THAT ARE DOING POORLY OCCASIONALLY USE REVERSE SPLITS TO RAISE THEIR PRICE.)  MANY COMPANIES DO OPERATE OUTSIDE THE $20 TO $80 RANGE, BUT MOST STAY WITHIN IT.

ANOTHER FACTOR THAT MAY INFLUENCE STOCK SPLITS AND DIVIDENDS IS THE BELIEF THAT THEY SIGNAL MANAGEMENT’S BELIEF THAT THE FUTURE IS BRIGHT. IF A FIRM’S MANAGEMENT WOULD BE INCLINED TO SPLIT THE STOCK OR PAY A STOCK DIVIDEND ONLY IF IT ANTICIPATED IMPROVEMENTS IN EARNINGS AND DIVIDENDS, THEN A SPLIT/DIVIDEND ACTION COULD PROVIDE A POSITIVE SIGNAL AND THUS BOOST THE STOCK PRICE.  HOWEVER, IF EARNINGS AND CASH DIVIDENDS DID NOT SUBSEQUENTLY RISE, THE PRICE OF THE STOCK WOULD FALL BACK TO ITS OLD LEVEL, OR EVEN LOWER, BECAUSE MANAGERS WOULD LOSE CREDIBILITY.

INTERESTINGLY, ONE OF THE MOST ASTUTE INVESTORS OF THE 20TH CENTURY, WARREN BUFFETT, CHAIRMAN OF BERKSHIRE-HATHAWAY, HAS NEVER SPLIT HIS FIRM’S STOCK.  BERKSHIRE CURRENTLY SELLS FOR OVER $55,500 PER SHARE, AND ITS PERFORMANCE OVER THE YEARS HAS BEEN ABSOLUTELY SPECTACULAR.  IT MAY BE THAT BERKSHIRE’S MARKET VALUE WOULD BE HIGHER IF IT HAD A 694:1 STOCK SPLIT, OR IT MAY BE THAT THE CONVENTIONAL WISDOM IS WRONG.
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